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AutoCAD SHX Text
`H=213.50;LI=1;TY=300;W1=50.50;PP=ABRL;FI=C:\CADDY1\A1\RECHTE1R.PDR;`

AutoCAD SHX Text
`NM=101/213R;T2= ;BW=4.00;BB=0.00;ST=0.00;FW=8.00;P=1;PO=1;W=101.00;`

AutoCAD SHX Text
`M=T_RE101R;TA=41;1X=-50.50;1Y=-33.00;2X=-50.50;2Y=-33.00;3Y=124.03;LW=5.00;`

AutoCAD SHX Text
`AA=1;KS=0.00;FD=6.00;BD=4.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;END=0;`

AutoCAD SHX Text
`H=213.50;LI=1;TY=300;W1=50.50;PP=ABRL;FI=C:\CADDY1\A1\RECHTE1R.PDR;`

AutoCAD SHX Text
`NM=101/213R;T2= ;BW=4.00;BB=0.00;ST=0.00;FW=8.00;P=1;PO=1;W=101.00;`

AutoCAD SHX Text
`M=T_RE101R;TA=41;1X=-50.50;1Y=-33.00;2X=-50.50;2Y=-33.00;3Y=124.03;LW=5.00;`

AutoCAD SHX Text
`AA=1;KS=0.00;FD=6.00;BD=4.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;END=0;`

AutoCAD SHX Text
`H=213.50;LI=1;TY=300;W1=50.50;PP=ABRL;FI=C:\CADDY1\A1\RECHTE1R.PDR;`

AutoCAD SHX Text
`NM=101/213R;T2= ;BW=4.00;BB=0.00;ST=0.00;FW=8.00;P=1;PO=1;W=101.00;`

AutoCAD SHX Text
`M=T_RE101R;TA=41;1X=-50.50;1Y=-33.00;2X=-50.50;2Y=-33.00;3Y=124.03;LW=5.00;`

AutoCAD SHX Text
`AA=1;KS=0.00;FD=6.00;BD=4.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;END=0;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`H=226.00;LI=1;TY=100;W1=50.50;PP=ABRL;FI=C:\CADDY1\A1\DUBRU.PBR;NM=D__3;`

AutoCAD SHX Text
`BW=0.00;BB=0.00;ST=0.00;FW=0.00;W=101.00;M= ;TA=45;1X=-50.50;1Y=-12.00;`

AutoCAD SHX Text
`2Y=-168.27;3Y=130.00;KS=0.00;4Y=224.00;L1=6;L2=6;L3=6;L4=6;L5=29;L6=6;`

AutoCAD SHX Text
`4Y=140.00;END=0;`

AutoCAD SHX Text
`H=201.00;LI=1;TY=300;W1=31.75;PP=ABRL;FI=C:\CADDY1\A1\RECHTE1R.PDR;`

AutoCAD SHX Text
`NM=_63/213R;T2= ;BW=4.00;BB=0.00;ST=0.00;FW=4.00;P=1;PO=1;W=63.50;`

AutoCAD SHX Text
`M=T_RE63_R;TA=41;1Y=112.00;2Y=168.00;3Y=-68.20;LW=3.00;AA=5;KS=0.00;`

AutoCAD SHX Text
`FD=6.00;BD=4.00;4Y=140.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;4Y=140.00;`

AutoCAD SHX Text
`END=0;`

AutoCAD SHX Text
`H=201.00;LI=1;TY=300;W1=31.75;PP=ABRL;FI=C:\CADDY1\A1\RECHTE1R.PDR;`

AutoCAD SHX Text
`NM=_63/213R;T2= ;BW=4.00;BB=0.00;ST=0.00;FW=4.00;P=1;PO=1;W=63.50;`

AutoCAD SHX Text
`M=T_RE63_R;TA=41;1Y=112.00;2Y=168.00;3Y=-68.20;LW=3.00;AA=5;KS=0.00;`

AutoCAD SHX Text
`FD=6.00;BD=4.00;4Y=140.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;4Y=140.00;`

AutoCAD SHX Text
`END=0;`

AutoCAD SHX Text
`H=213.50;LI=1;TY=300;W1=44.25;PP=ABRL;FI=C:\CADDY1\A1\RECHTE1R.PDR;`

AutoCAD SHX Text
`NM=_88/213R;T2= ;BW=4.00;BB=0.00;ST=0.00;FW=8.00;P=1;PO=1;W=84.00;`

AutoCAD SHX Text
`M=T_RE88_R;TA=41;1Y=112.00;2Y=168.00;3Y=99.95;LW=5.75;AA=1;KS=0.00;FD=6.00;`

AutoCAD SHX Text
`BD=4.00;4Y=140.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=213.50;LI=1;TY=300;W1=44.25;PP=ABRL;FI=C:\CADDY1\A1\RECHTE1R.PDR;`

AutoCAD SHX Text
`NM=_88/213R;T2= ;BW=4.00;BB=0.00;ST=0.00;FW=8.00;P=1;PO=1;W=84.00;`

AutoCAD SHX Text
`M=T_RE88_R;TA=41;1Y=112.00;2Y=168.00;3Y=99.95;LW=5.75;AA=1;KS=0.00;FD=6.00;`

AutoCAD SHX Text
`BD=4.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=201.00;LI=1;TY=100;W1=119.25;PP=ABRL;FI=C:\CADDY1\A1\DUBRU.PBR;NM=D_14;`

AutoCAD SHX Text
`BW=0.00;BB=0.00;ST=0.00;FW=0.00;W=235.00;M= ;TA=45;1X=-119.25;1Y=-12.00;`

AutoCAD SHX Text
`2Y=37.04;3Y=130.00;KS=0.00;4Y=224.00;L1=6;L2=13;L3=13;L4=13;L5=29;L6=13;`

AutoCAD SHX Text
`4Y=140.00;END=0;`

AutoCAD SHX Text
`H=125.00;HP=90.00;LI=1;TY=200;W1=100.50;PP=ABRL;`

AutoCAD SHX Text
`FI=C:\CADDY1\A1\FENSTER.PWN;NM=201/101;BW=4.00;BB=2.00;ST=10.00;FW=5.00;`

AutoCAD SHX Text
`P=3;PO=2;WI=1;W=225.00;M=F_RE201Z;TA=47;1Y=100.00;2Y=120.00;3Y=130.00;`

AutoCAD SHX Text
`LW=7.50;KS=0.00;FD=10.00;BD=4.00;4Y=224.00;L1=6;L2=30;L3=6;L4=6;L5=29;`

AutoCAD SHX Text
`L6=13;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=125.00;HP=90.00;LI=1;TY=200;W1=100.50;PP=ABRL;`

AutoCAD SHX Text
`FI=C:\CADDY1\A1\FENSTER.PWN;NM=201/101;BW=4.00;BB=2.00;ST=10.00;FW=5.00;`

AutoCAD SHX Text
`P=3;PO=2;WI=1;W=225.00;M=F_RE201Z;TA=47;1Y=100.00;2Y=120.00;3Y=130.00;`

AutoCAD SHX Text
`LW=7.50;KS=0.00;FD=10.00;BD=4.00;4Y=224.00;L1=6;L2=30;L3=6;L4=6;L5=29;`

AutoCAD SHX Text
`L6=13;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=125.00;HP=90.00;LI=1;TY=200;W1=100.50;PP=ABRL;`

AutoCAD SHX Text
`FI=C:\CADDY1\A1\FENSTER.PWN;NM=201/101;BW=4.00;BB=2.00;ST=0.00;FW=5.00;P=1;`

AutoCAD SHX Text
`PO=2;WI=1;W=111.50;M=F_RE201Z;TA=47;1Y=100.00;2Y=120.00;3Y=130.00;LW=7.50;`

AutoCAD SHX Text
`KS=0.00;FD=10.00;BD=4.00;4Y=224.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=13;`

AutoCAD SHX Text
`4Y=140.00;END=0;`

AutoCAD SHX Text
`H=125.00;HP=90.00;LI=1;TY=200;W1=100.50;PP=ABRL;`

AutoCAD SHX Text
`FI=C:\CADDY1\A1\FENSTER.PWN;NM=201/101;BW=4.00;BB=2.00;ST=10.00;FW=5.00;`

AutoCAD SHX Text
`P=3;PO=2;WI=1;W=225.00;M=F_RE201Z;TA=47;1Y=100.00;2Y=120.00;3Y=130.00;`

AutoCAD SHX Text
`LW=7.50;KS=0.00;FD=10.00;BD=4.00;4Y=224.00;L1=6;L2=30;L3=6;L4=6;L5=29;`

AutoCAD SHX Text
`L6=13;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=125.00;HP=90.00;LI=1;TY=200;W1=100.50;PP=ABRL;`

AutoCAD SHX Text
`FI=C:\CADDY1\A1\FENSTER.PWN;NM=201/101;BW=4.00;BB=2.00;ST=0.00;FW=5.00;P=1;`

AutoCAD SHX Text
`PO=2;WI=1;W=111.50;M=F_RE201Z;TA=47;1Y=100.00;2Y=120.00;3Y=130.00;LW=7.50;`

AutoCAD SHX Text
`KS=0.00;FD=10.00;BD=4.00;4Y=224.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=13;`

AutoCAD SHX Text
`4Y=140.00;END=0;`

AutoCAD SHX Text
`H=125.00;HP=90.00;LI=1;TY=200;W1=100.50;PP=ABRL;`

AutoCAD SHX Text
`FI=C:\CADDY1\A1\FENSTER.PWN;NM=201/101;BW=4.00;BB=2.00;ST=10.00;FW=5.00;`

AutoCAD SHX Text
`P=3;PO=2;WI=1;W=225.00;M=F_RE201Z;TA=47;1Y=100.00;2Y=120.00;3Y=130.00;`

AutoCAD SHX Text
`LW=7.50;KS=0.00;FD=10.00;BD=4.00;4Y=224.00;L1=6;L2=30;L3=6;L4=6;L5=29;`

AutoCAD SHX Text
`L6=13;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=125.00;HP=90.00;LI=1;TY=200;W1=100.50;PP=ABRL;`

AutoCAD SHX Text
`FI=C:\CADDY1\A1\FENSTER.PWN;NM=201/101;BW=4.00;BB=2.00;ST=10.00;FW=5.00;`

AutoCAD SHX Text
`P=3;PO=2;WI=1;W=225.00;M=F_RE201Z;TA=47;1Y=100.00;2Y=120.00;3Y=130.00;`

AutoCAD SHX Text
`LW=7.50;KS=0.00;FD=10.00;BD=4.00;4Y=224.00;L1=6;L2=30;L3=6;L4=6;L5=29;`

AutoCAD SHX Text
`L6=13;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=125.00;HP=90.00;LI=1;TY=200;W1=100.50;PP=ABRL;`

AutoCAD SHX Text
`FI=C:\CADDY1\A1\FENSTER.PWN;NM=201/101;BW=4.00;BB=2.00;ST=0.00;FW=5.00;P=1;`

AutoCAD SHX Text
`PO=2;WI=1;W=111.50;M=F_RE201Z;TA=47;1Y=100.00;2Y=120.00;3Y=130.00;LW=7.50;`

AutoCAD SHX Text
`KS=0.00;FD=10.00;BD=4.00;4Y=224.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=13;`

AutoCAD SHX Text
`4Y=140.00;END=0;`

AutoCAD SHX Text
`H=125.00;HP=90.00;LI=1;TY=200;W1=100.50;PP=ABRL;`

AutoCAD SHX Text
`FI=C:\CADDY1\A1\FENSTER.PWN;NM=201/101;BW=4.00;BB=2.00;ST=10.00;FW=5.00;`

AutoCAD SHX Text
`P=3;PO=2;WI=1;W=225.00;M=F_RE201Z;TA=47;1Y=100.00;2Y=120.00;3Y=130.00;`

AutoCAD SHX Text
`LW=7.50;KS=0.00;FD=10.00;BD=4.00;4Y=224.00;L1=6;L2=30;L3=6;L4=6;L5=29;`

AutoCAD SHX Text
`L6=13;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=125.00;HP=90.00;LI=1;TY=200;W1=100.50;PP=ABRL;`

AutoCAD SHX Text
`FI=C:\CADDY1\A1\FENSTER.PWN;NM=201/101;BW=4.00;BB=2.00;ST=10.00;FW=5.00;`

AutoCAD SHX Text
`P=3;PO=2;WI=1;W=225.00;M=F_RE201Z;TA=47;1Y=100.00;2Y=120.00;3Y=130.00;`

AutoCAD SHX Text
`LW=7.50;KS=0.00;FD=10.00;BD=4.00;4Y=224.00;L1=6;L2=30;L3=6;L4=6;L5=29;`

AutoCAD SHX Text
`L6=13;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=125.00;HP=90.00;LI=1;TY=200;W1=100.50;PP=ABRL;`

AutoCAD SHX Text
`FI=C:\CADDY1\A1\FENSTER.PWN;NM=201/101;BW=4.00;BB=2.00;ST=0.00;FW=5.00;P=1;`

AutoCAD SHX Text
`PO=2;WI=1;W=111.50;M=F_RE201Z;TA=47;1Y=100.00;2Y=120.00;3Y=130.00;LW=7.50;`

AutoCAD SHX Text
`KS=0.00;FD=10.00;BD=4.00;4Y=224.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=13;`

AutoCAD SHX Text
`4Y=140.00;END=0;`

AutoCAD SHX Text
`H=125.00;HP=90.00;LI=1;TY=200;W1=100.50;PP=ABRL;`

AutoCAD SHX Text
`FI=C:\CADDY1\A1\FENSTER.PWN;NM=201/101;BW=4.00;BB=2.00;ST=10.00;FW=5.00;`

AutoCAD SHX Text
`P=3;PO=2;WI=1;W=225.00;M=F_RE201Z;TA=47;1Y=100.00;2Y=120.00;3Y=130.00;`

AutoCAD SHX Text
`LW=7.50;KS=0.00;FD=10.00;BD=4.00;4Y=224.00;L1=6;L2=30;L3=6;L4=6;L5=29;`

AutoCAD SHX Text
`L6=13;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=125.00;HP=90.00;LI=1;TY=200;W1=100.50;PP=ABRL;`

AutoCAD SHX Text
`FI=C:\CADDY1\A1\FENSTER.PWN;NM=201/101;BW=4.00;BB=2.00;ST=10.00;FW=5.00;`

AutoCAD SHX Text
`P=3;PO=2;WI=1;W=225.00;M=F_RE201Z;TA=47;1Y=100.00;2Y=120.00;3Y=130.00;`

AutoCAD SHX Text
`LW=7.50;KS=0.00;FD=10.00;BD=4.00;4Y=224.00;L1=6;L2=30;L3=6;L4=6;L5=29;`

AutoCAD SHX Text
`L6=13;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=125.00;HP=90.00;LI=1;TY=200;W1=100.50;PP=ABRL;`

AutoCAD SHX Text
`FI=C:\CADDY1\A1\FENSTER.PWN;NM=201/101;BW=4.00;BB=2.00;ST=0.00;FW=5.00;P=1;`

AutoCAD SHX Text
`PO=2;WI=1;W=111.50;M=F_RE201Z;TA=47;1Y=100.00;2Y=120.00;3Y=130.00;LW=7.50;`

AutoCAD SHX Text
`KS=0.00;FD=10.00;BD=4.00;4Y=224.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=13;`

AutoCAD SHX Text
`4Y=140.00;END=0;`

AutoCAD SHX Text
`H=125.00;HP=90.00;LI=1;TY=200;W1=100.50;PP=ABRL;`

AutoCAD SHX Text
`FI=C:\CADDY1\A1\FENSTER.PWN;NM=201/101;BW=4.00;BB=2.00;ST=10.00;FW=5.00;`

AutoCAD SHX Text
`P=3;PO=2;WI=1;W=225.00;M=F_RE201Z;TA=47;1Y=100.00;2Y=120.00;3Y=130.00;`

AutoCAD SHX Text
`LW=7.50;KS=0.00;FD=10.00;BD=4.00;4Y=224.00;L1=6;L2=30;L3=6;L4=6;L5=29;`

AutoCAD SHX Text
`L6=13;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=125.00;HP=90.00;LI=1;TY=200;W1=100.50;PP=ABRL;`

AutoCAD SHX Text
`FI=C:\CADDY1\A1\FENSTER.PWN;NM=201/101;BW=4.00;BB=2.00;ST=10.00;FW=5.00;`

AutoCAD SHX Text
`P=3;PO=2;WI=1;W=225.00;M=F_RE201Z;TA=47;1Y=100.00;2Y=120.00;3Y=130.00;`

AutoCAD SHX Text
`LW=7.50;KS=0.00;FD=10.00;BD=4.00;4Y=224.00;L1=6;L2=30;L3=6;L4=6;L5=29;`

AutoCAD SHX Text
`L6=13;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=125.00;HP=90.00;LI=1;TY=200;W1=100.50;PP=ABRL;`

AutoCAD SHX Text
`FI=C:\CADDY1\A1\FENSTER.PWN;NM=201/101;BW=4.00;BB=2.00;ST=0.00;FW=5.00;P=1;`

AutoCAD SHX Text
`PO=2;WI=1;W=111.50;M=F_RE201Z;TA=47;1Y=100.00;2Y=120.00;3Y=130.00;LW=7.50;`

AutoCAD SHX Text
`KS=0.00;FD=10.00;BD=4.00;4Y=224.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=13;`

AutoCAD SHX Text
`4Y=140.00;END=0;`

AutoCAD SHX Text
`H=201.00;LI=1;TY=300;W1=31.75;PP=ABRL;FI=C:\CADDY1\A1\RECHTE1R.PDR;`

AutoCAD SHX Text
`NM=_63/213R;T2= ;BW=4.00;BB=0.00;ST=0.00;FW=4.00;P=1;PO=1;W=63.50;`

AutoCAD SHX Text
`M=T_RE63_R;TA=41;1Y=112.00;2Y=168.00;3Y=-68.97;LW=3.00;AA=5;KS=0.00;`

AutoCAD SHX Text
`FD=6.00;BD=4.00;4Y=140.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;4Y=140.00;`

AutoCAD SHX Text
`END=0;`

AutoCAD SHX Text
`H=201.00;LI=1;TY=300;W1=31.75;PP=ABRL;FI=C:\CADDY1\A1\RECHTE1R.PDR;`

AutoCAD SHX Text
`NM=_63/213R;T2= ;BW=4.00;BB=0.00;ST=0.00;FW=4.00;P=1;PO=1;W=63.50;`

AutoCAD SHX Text
`M=T_RE63_R;TA=41;1Y=112.00;2Y=168.00;3Y=-68.97;LW=3.00;AA=1;KS=0.00;`

AutoCAD SHX Text
`FD=6.00;BD=4.00;4Y=140.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;4Y=140.00;`

AutoCAD SHX Text
`END=0;`

AutoCAD SHX Text
`H=201.00;LI=1;TY=300;W1=31.75;PP=ABRL;FI=C:\CADDY1\A1\RECHTE1R.PDR;`

AutoCAD SHX Text
`NM=_63/213R;T2= ;BW=4.00;BB=0.00;ST=0.00;FW=4.00;P=1;PO=1;W=63.50;`

AutoCAD SHX Text
`M=T_RE63_R;TA=41;1Y=112.00;2Y=168.00;3Y=-68.97;LW=3.00;AA=1;KS=0.00;`

AutoCAD SHX Text
`FD=6.00;BD=4.00;4Y=140.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;4Y=140.00;`

AutoCAD SHX Text
`END=0;`

AutoCAD SHX Text
`H=226.00;LI=1;TY=100;W1=63.00;PP=ABRL;FI=C:\CADDY1\A1\DUBRU.PBR;NM=D__5;`

AutoCAD SHX Text
`BW=0.00;BB=0.00;ST=0.00;FW=0.00;W=122.00;M= ;TA=45;1X=-63.00;1Y=-40.00;`

AutoCAD SHX Text
`2Y=102.44;3Y=130.00;KS=0.00;4Y=224.00;L1=6;L2=6;L3=6;L4=6;L5=29;L6=6;`

AutoCAD SHX Text
`4Y=140.00;END=0;`

AutoCAD SHX Text
`H=213.50;LI=1;TY=300;W1=50.50;PP=ABRL;FI=C:\CADDY1\A1\RECHTE1R.PDR;`

AutoCAD SHX Text
`NM=101/213R;T2= ;BW=4.00;BB=0.00;ST=0.00;FW=8.00;P=1;PO=1;W=101.00;`

AutoCAD SHX Text
`M=T_RE101R;TA=41;1X=-50.50;1Y=-33.00;2X=-50.50;2Y=-33.00;3Y=124.03;LW=5.00;`

AutoCAD SHX Text
`AA=1;KS=0.00;FD=6.00;BD=4.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;END=0;`

AutoCAD SHX Text
`H=213.50;LI=1;TY=300;W1=50.50;PP=ABRL;FI=C:\CADDY1\A1\RECHTE1R.PDR;`

AutoCAD SHX Text
`NM=101/213R;T2= ;BW=4.00;BB=0.00;ST=0.00;FW=8.00;P=1;PO=1;W=101.00;`

AutoCAD SHX Text
`M=T_RE101R;TA=41;1X=-50.50;1Y=-33.00;2X=-50.50;2Y=-33.00;3Y=124.03;LW=5.00;`

AutoCAD SHX Text
`AA=1;KS=0.00;FD=6.00;BD=4.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;END=0;`

AutoCAD SHX Text
`H=213.50;LI=1;TY=300;W1=50.50;PP=ABRL;FI=C:\CADDY1\A1\RECHTE1R.PDR;`

AutoCAD SHX Text
`NM=101/213R;T2= ;BW=4.00;BB=0.00;ST=0.00;FW=8.00;P=1;PO=1;W=101.00;`

AutoCAD SHX Text
`M=T_RE101R;TA=41;1X=-50.50;1Y=-33.00;2X=-50.50;2Y=-33.00;3Y=124.03;LW=5.00;`

AutoCAD SHX Text
`AA=1;KS=0.00;FD=6.00;BD=4.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;END=0;`

AutoCAD SHX Text
`H=213.50;LI=1;TY=300;W1=50.50;PP=ABRL;FI=C:\CADDY1\A1\RECHTE1R.PDR;`

AutoCAD SHX Text
`NM=101/213R;T2= ;BW=4.00;BB=0.00;ST=0.00;FW=8.00;P=1;PO=1;W=101.00;`

AutoCAD SHX Text
`M=T_RE101R;TA=41;1X=-50.50;1Y=-33.00;2X=-50.50;2Y=-33.00;3Y=124.03;LW=5.00;`

AutoCAD SHX Text
`AA=1;KS=0.00;FD=6.00;BD=4.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;END=0;`

AutoCAD SHX Text
`H=213.50;LI=1;TY=300;W1=50.50;PP=ABRL;FI=C:\CADDY1\A1\RECHTE1R.PDR;`

AutoCAD SHX Text
`NM=101/213R;T2= ;BW=4.00;BB=0.00;ST=0.00;FW=8.00;P=1;PO=1;W=101.00;`

AutoCAD SHX Text
`M=T_RE101R;TA=41;1X=-50.50;1Y=-33.00;2X=-50.50;2Y=-33.00;3Y=124.03;LW=5.00;`

AutoCAD SHX Text
`AA=1;KS=0.00;FD=6.00;BD=4.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;END=0;`

AutoCAD SHX Text
`H=213.50;LI=1;TY=300;W1=50.50;PP=ABRL;FI=C:\CADDY1\A1\RECHTE1R.PDR;`

AutoCAD SHX Text
`NM=101/213R;T2= ;BW=4.00;BB=0.00;ST=0.00;FW=8.00;P=1;PO=1;W=101.00;`

AutoCAD SHX Text
`M=T_RE101R;TA=41;1X=-50.50;1Y=-33.00;2X=-50.50;2Y=-33.00;3Y=124.03;LW=5.00;`

AutoCAD SHX Text
`AA=1;KS=0.00;FD=6.00;BD=4.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;END=0;`

AutoCAD SHX Text
`H=213.50;LI=1;TY=300;W1=50.50;PP=ABRL;FI=C:\CADDY1\A1\RECHTE1R.PDR;`

AutoCAD SHX Text
`NM=101/213R;T2= ;BW=4.00;BB=0.00;ST=0.00;FW=8.00;P=1;PO=1;W=101.00;`

AutoCAD SHX Text
`M=T_RE101R;TA=41;1X=-50.50;1Y=-33.00;2X=-50.50;2Y=-33.00;3Y=124.03;LW=5.00;`

AutoCAD SHX Text
`AA=1;KS=0.00;FD=6.00;BD=4.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;END=0;`

AutoCAD SHX Text
`H=213.50;LI=1;TY=300;W1=50.50;PP=ABRL;FI=C:\CADDY1\A1\RECHTE1R.PDR;`

AutoCAD SHX Text
`NM=101/213R;T2= ;BW=4.00;BB=0.00;ST=0.00;FW=8.00;P=1;PO=1;W=101.00;`

AutoCAD SHX Text
`M=T_RE101R;TA=41;1X=-50.50;1Y=-33.00;2X=-50.50;2Y=-33.00;3Y=124.03;LW=5.00;`

AutoCAD SHX Text
`AA=1;KS=0.00;FD=6.00;BD=4.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;END=0;`



Aufzug
018

Technik
019

Flächen nach DIN 277
NF 1
NF 2
NF 3
NF 4
NF 5
NF 6
NF 7
TF 8
VF 9
KF
Sonstige

RÄUME

Nummer Name

Allgemein

Fläche Brutto Anrechenbarkeit Fläche Netto Umfang

Fläche & Umfang

Büro
010

Büro
012

Büro
009

Treppenhaus
017WC Damen

015
Teeküche
016

Büro
011

Flur
004

Vorraum WC
013

WC Herren
014

Büro
008

Büro
007

Büro
006

Empfang
002

Flur
003

Windfang
001

Büro
005

Hallenfläche / Lager

GRUNDRISS
ERDGESCHOSS

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
PS

AutoCAD SHX Text
`H=226.00;LI=1;TY=300;W1=50.50;PP=ABRL;FI=C:\CADDY1\A1\RECHTE1R.PDR;`

AutoCAD SHX Text
`NM=101/213R;T2= ;BW=4.00;BB=0.00;ST=0.00;FW=8.00;P=1;PO=1;W=101.00;`

AutoCAD SHX Text
`M=T_RE101R;TA=41;1Y=112.00;2Y=168.00;3Y=-169.01;LW=12.00;AA=5;KS=0.00;`

AutoCAD SHX Text
`FD=6.00;BD=4.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=226.00;LI=1;TY=100;W1=50.50;PP=ABRL;FI=C:\CADDY1\A1\DUBRU.PBR;NM=D__3;`

AutoCAD SHX Text
`BW=0.00;BB=0.00;ST=0.00;FW=0.00;W=101.00;M= ;TA=45;1X=-50.50;1Y=-12.00;`

AutoCAD SHX Text
`2Y=-168.27;3Y=130.00;KS=0.00;4Y=224.00;L1=6;L2=6;L3=6;L4=6;L5=29;L6=6;`

AutoCAD SHX Text
`4Y=140.00;END=0;`

AutoCAD SHX Text
`H=201.00;LI=1;TY=300;W1=31.75;PP=ABRL;FI=C:\CADDY1\A1\RECHTE1R.PDR;`

AutoCAD SHX Text
`NM=_63/213R;T2= ;BW=4.00;BB=0.00;ST=0.00;FW=4.00;P=1;PO=1;W=63.50;`

AutoCAD SHX Text
`M=T_RE63_R;TA=41;1Y=112.00;2Y=168.00;3Y=-68.20;LW=3.00;AA=5;KS=0.00;`

AutoCAD SHX Text
`FD=6.00;BD=4.00;4Y=140.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;4Y=140.00;`

AutoCAD SHX Text
`END=0;`

AutoCAD SHX Text
`H=201.00;LI=1;TY=300;W1=31.75;PP=ABRL;FI=C:\CADDY1\A1\RECHTE1R.PDR;`

AutoCAD SHX Text
`NM=_63/213R;T2= ;BW=4.00;BB=0.00;ST=0.00;FW=4.00;P=1;PO=1;W=63.50;`

AutoCAD SHX Text
`M=T_RE63_R;TA=41;1Y=112.00;2Y=168.00;3Y=-68.20;LW=3.00;AA=5;KS=0.00;`

AutoCAD SHX Text
`FD=6.00;BD=4.00;4Y=140.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;4Y=140.00;`

AutoCAD SHX Text
`END=0;`

AutoCAD SHX Text
`H=213.50;LI=1;TY=300;W1=44.25;PP=ABRL;FI=C:\CADDY1\A1\RECHTE1R.PDR;`

AutoCAD SHX Text
`NM=_88/213R;T2= ;BW=4.00;BB=0.00;ST=0.00;FW=8.00;P=1;PO=1;W=84.00;`

AutoCAD SHX Text
`M=T_RE88_R;TA=41;1Y=112.00;2Y=168.00;3Y=99.95;LW=5.75;AA=1;KS=0.00;FD=6.00;`

AutoCAD SHX Text
`BD=4.00;4Y=140.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=213.50;LI=1;TY=300;W1=44.25;PP=ABRL;FI=C:\CADDY1\A1\RECHTE1R.PDR;`

AutoCAD SHX Text
`NM=_88/213R;T2= ;BW=4.00;BB=0.00;ST=0.00;FW=8.00;P=1;PO=1;W=84.00;`

AutoCAD SHX Text
`M=T_RE88_R;TA=41;1Y=112.00;2Y=168.00;3Y=99.95;LW=5.75;AA=1;KS=0.00;FD=6.00;`

AutoCAD SHX Text
`BD=4.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=201.00;LI=1;TY=100;W1=119.25;PP=ABRL;FI=C:\CADDY1\A1\DUBRU.PBR;NM=D_14;`

AutoCAD SHX Text
`BW=0.00;BB=0.00;ST=0.00;FW=0.00;W=235.00;M= ;TA=45;1X=-119.25;1Y=-12.00;`

AutoCAD SHX Text
`2Y=37.04;3Y=130.00;KS=0.00;4Y=224.00;L1=6;L2=13;L3=13;L4=13;L5=29;L6=13;`

AutoCAD SHX Text
`4Y=140.00;END=0;`

AutoCAD SHX Text
`H=125.00;HP=90.00;LI=1;TY=200;W1=100.50;PP=ABRL;`

AutoCAD SHX Text
`FI=C:\CADDY1\A1\FENSTER.PWN;NM=201/101;BW=6.00;BB=2.00;ST=10.00;FW=5.00;`

AutoCAD SHX Text
`P=3;PO=2;WI=1;W=225.00;M=F_RE201Z;TA=47;1Y=100.00;2Y=120.00;3Y=130.00;`

AutoCAD SHX Text
`LW=7.50;KS=0.00;FD=10.00;BD=6.00;4Y=224.00;L1=6;L2=30;L3=6;L4=6;L5=29;`

AutoCAD SHX Text
`L6=13;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=125.00;HP=90.00;LI=1;TY=200;W1=100.50;PP=ABRL;`

AutoCAD SHX Text
`FI=C:\CADDY1\A1\FENSTER.PWN;NM=201/101;BW=6.00;BB=2.00;ST=10.00;FW=5.00;`

AutoCAD SHX Text
`L=100.00;P=3;PO=2;WI=1;W=225.00;M=F_RE201Z;TA=47;1Y=100.00;2Y=120.00;`

AutoCAD SHX Text
`3Y=130.00;LW=7.50;KS=0.00;FD=10.00;BD=6.00;4Y=224.00;L1=6;L2=30;L3=6;L4=6;`

AutoCAD SHX Text
`L5=29;L6=13;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=125.00;HP=90.00;LI=1;TY=200;W1=100.50;PP=ABRL;`

AutoCAD SHX Text
`FI=C:\CADDY1\A1\FENSTER.PWN;NM=201/101;BW=6.00;BB=2.00;ST=10.00;FW=5.00;`

AutoCAD SHX Text
`L=100.00;P=3;PO=2;WI=1;W=225.00;M=F_RE201Z;TA=47;1Y=100.00;2Y=120.00;`

AutoCAD SHX Text
`3Y=130.00;LW=7.50;KS=0.00;FD=10.00;BD=6.00;4Y=224.00;L1=6;L2=30;L3=6;L4=6;`

AutoCAD SHX Text
`L5=29;L6=13;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=125.00;HP=90.00;LI=1;TY=200;W1=100.50;PP=ABRL;`

AutoCAD SHX Text
`FI=C:\CADDY1\A1\FENSTER.PWN;NM=201/101;BW=6.00;BB=2.00;ST=10.00;FW=5.00;`

AutoCAD SHX Text
`L=100.00;P=1;PO=2;WI=1;W=111.50;M=F_RE201Z;TA=47;1Y=100.00;2Y=120.00;`

AutoCAD SHX Text
`3Y=130.00;LW=7.50;KS=0.00;FD=10.00;BD=6.00;4Y=224.00;L1=6;L2=30;L3=6;L4=6;`

AutoCAD SHX Text
`L5=29;L6=13;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=125.00;HP=90.00;LI=1;TY=200;W1=100.50;PP=ABRL;`

AutoCAD SHX Text
`FI=C:\CADDY1\A1\FENSTER.PWN;NM=201/101;BW=4.00;BB=2.00;ST=10.00;FW=5.00;`

AutoCAD SHX Text
`P=3;PO=2;WI=1;W=225.00;M=F_RE201Z;TA=47;1Y=100.00;2Y=120.00;3Y=130.00;`

AutoCAD SHX Text
`LW=7.50;KS=0.00;FD=10.00;BD=4.00;4Y=224.00;L1=6;L2=30;L3=6;L4=6;L5=29;`

AutoCAD SHX Text
`L6=13;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=125.00;HP=90.00;LI=1;TY=200;W1=100.50;PP=ABRL;`

AutoCAD SHX Text
`FI=C:\CADDY1\A1\FENSTER.PWN;NM=201/101;BW=4.00;BB=2.00;ST=10.00;FW=5.00;`

AutoCAD SHX Text
`P=3;PO=2;WI=1;W=225.00;M=F_RE201Z;TA=47;1Y=100.00;2Y=120.00;3Y=130.00;`

AutoCAD SHX Text
`LW=7.50;KS=0.00;FD=10.00;BD=4.00;4Y=224.00;L1=6;L2=30;L3=6;L4=6;L5=29;`

AutoCAD SHX Text
`L6=13;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=125.00;HP=90.00;LI=1;TY=200;W1=100.50;PP=ABRL;`

AutoCAD SHX Text
`FI=C:\CADDY1\A1\FENSTER.PWN;NM=201/101;BW=4.00;BB=2.00;ST=0.00;FW=5.00;P=1;`

AutoCAD SHX Text
`PO=2;WI=1;W=111.50;M=F_RE201Z;TA=47;1Y=100.00;2Y=120.00;3Y=130.00;LW=7.50;`

AutoCAD SHX Text
`KS=0.00;FD=10.00;BD=4.00;4Y=224.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=13;`

AutoCAD SHX Text
`4Y=140.00;END=0;`

AutoCAD SHX Text
`H=125.00;HP=90.00;LI=1;TY=200;W1=100.50;PP=ABRL;`

AutoCAD SHX Text
`FI=C:\CADDY1\A1\FENSTER.PWN;NM=201/101;BW=4.00;BB=2.00;ST=10.00;FW=5.00;`

AutoCAD SHX Text
`P=3;PO=2;WI=1;W=225.00;M=F_RE201Z;TA=47;1Y=100.00;2Y=120.00;3Y=130.00;`

AutoCAD SHX Text
`LW=7.50;KS=0.00;FD=10.00;BD=4.00;4Y=224.00;L1=6;L2=30;L3=6;L4=6;L5=29;`

AutoCAD SHX Text
`L6=13;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=125.00;HP=90.00;LI=1;TY=200;W1=100.50;PP=ABRL;`

AutoCAD SHX Text
`FI=C:\CADDY1\A1\FENSTER.PWN;NM=201/101;BW=4.00;BB=2.00;ST=10.00;FW=5.00;`

AutoCAD SHX Text
`P=3;PO=2;WI=1;W=225.00;M=F_RE201Z;TA=47;1Y=100.00;2Y=120.00;3Y=130.00;`

AutoCAD SHX Text
`LW=7.50;KS=0.00;FD=10.00;BD=4.00;4Y=224.00;L1=6;L2=30;L3=6;L4=6;L5=29;`

AutoCAD SHX Text
`L6=13;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=125.00;HP=90.00;LI=1;TY=200;W1=100.50;PP=ABRL;`

AutoCAD SHX Text
`FI=C:\CADDY1\A1\FENSTER.PWN;NM=201/101;BW=4.00;BB=2.00;ST=0.00;FW=5.00;P=1;`

AutoCAD SHX Text
`PO=2;WI=1;W=111.50;M=F_RE201Z;TA=47;1Y=100.00;2Y=120.00;3Y=130.00;LW=7.50;`

AutoCAD SHX Text
`KS=0.00;FD=10.00;BD=4.00;4Y=224.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=13;`

AutoCAD SHX Text
`4Y=140.00;END=0;`

AutoCAD SHX Text
`H=125.00;HP=90.00;LI=1;TY=200;W1=100.50;PP=ABRL;`

AutoCAD SHX Text
`FI=C:\CADDY1\A1\FENSTER.PWN;NM=201/101;BW=4.00;BB=2.00;ST=10.00;FW=5.00;`

AutoCAD SHX Text
`P=3;PO=2;WI=1;W=225.00;M=F_RE201Z;TA=47;1Y=100.00;2Y=120.00;3Y=130.00;`

AutoCAD SHX Text
`LW=7.50;KS=0.00;FD=10.00;BD=4.00;4Y=224.00;L1=6;L2=30;L3=6;L4=6;L5=29;`

AutoCAD SHX Text
`L6=13;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=125.00;HP=90.00;LI=1;TY=200;W1=100.50;PP=ABRL;`

AutoCAD SHX Text
`FI=C:\CADDY1\A1\FENSTER.PWN;NM=201/101;BW=4.00;BB=2.00;ST=10.00;FW=5.00;`

AutoCAD SHX Text
`P=3;PO=2;WI=1;W=225.00;M=F_RE201Z;TA=47;1Y=100.00;2Y=120.00;3Y=130.00;`

AutoCAD SHX Text
`LW=7.50;KS=0.00;FD=10.00;BD=4.00;4Y=224.00;L1=6;L2=30;L3=6;L4=6;L5=29;`

AutoCAD SHX Text
`L6=13;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=125.00;HP=90.00;LI=1;TY=200;W1=100.50;PP=ABRL;`

AutoCAD SHX Text
`FI=C:\CADDY1\A1\FENSTER.PWN;NM=201/101;BW=4.00;BB=2.00;ST=0.00;FW=5.00;P=1;`

AutoCAD SHX Text
`PO=2;WI=1;W=111.50;M=F_RE201Z;TA=47;1Y=100.00;2Y=120.00;3Y=130.00;LW=7.50;`

AutoCAD SHX Text
`KS=0.00;FD=10.00;BD=4.00;4Y=224.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=13;`

AutoCAD SHX Text
`4Y=140.00;END=0;`

AutoCAD SHX Text
`H=125.00;HP=90.00;LI=1;TY=200;W1=100.50;PP=ABRL;`

AutoCAD SHX Text
`FI=C:\CADDY1\A1\FENSTER.PWN;NM=201/101;BW=4.00;BB=2.00;ST=10.00;FW=5.00;`

AutoCAD SHX Text
`P=3;PO=2;WI=1;W=225.00;M=F_RE201Z;TA=47;1Y=100.00;2Y=120.00;3Y=130.00;`

AutoCAD SHX Text
`LW=7.50;KS=0.00;FD=10.00;BD=4.00;4Y=224.00;L1=6;L2=30;L3=6;L4=6;L5=29;`

AutoCAD SHX Text
`L6=13;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=125.00;HP=90.00;LI=1;TY=200;W1=100.50;PP=ABRL;`

AutoCAD SHX Text
`FI=C:\CADDY1\A1\FENSTER.PWN;NM=201/101;BW=4.00;BB=2.00;ST=10.00;FW=5.00;`

AutoCAD SHX Text
`P=3;PO=2;WI=1;W=225.00;M=F_RE201Z;TA=47;1Y=100.00;2Y=120.00;3Y=130.00;`

AutoCAD SHX Text
`LW=7.50;KS=0.00;FD=10.00;BD=4.00;4Y=224.00;L1=6;L2=30;L3=6;L4=6;L5=29;`

AutoCAD SHX Text
`L6=13;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=125.00;HP=90.00;LI=1;TY=200;W1=100.50;PP=ABRL;`

AutoCAD SHX Text
`FI=C:\CADDY1\A1\FENSTER.PWN;NM=201/101;BW=4.00;BB=2.00;ST=0.00;FW=5.00;P=1;`

AutoCAD SHX Text
`PO=2;WI=1;W=111.50;M=F_RE201Z;TA=47;1Y=100.00;2Y=120.00;3Y=130.00;LW=7.50;`

AutoCAD SHX Text
`KS=0.00;FD=10.00;BD=4.00;4Y=224.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=13;`

AutoCAD SHX Text
`4Y=140.00;END=0;`

AutoCAD SHX Text
`H=125.00;HP=90.00;LI=1;TY=200;W1=100.50;PP=ABRL;`

AutoCAD SHX Text
`FI=C:\CADDY1\A1\FENSTER.PWN;NM=201/101;BW=4.00;BB=2.00;ST=10.00;FW=5.00;`

AutoCAD SHX Text
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AutoCAD SHX Text
`NM=101/101;BW=4.00;BB=2.00;ST=0.00;FW=8.00;P=1;PO=2;WI=1;W=89.50;M=F_RE101;`

AutoCAD SHX Text
`TA=45;1Y=100.00;2Y=120.00;3Y=130.00;LW=6.25;KS=0.00;FD=6.00;BD=4.00;`

AutoCAD SHX Text
`4Y=224.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=14;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=213.50;LI=1;TY=300;W1=50.50;PP=ABRL;FI=C:\CADDY1\A1\RECHTE1R.PDR;`

AutoCAD SHX Text
`NM=101/213R;T2= ;BW=4.00;BB=0.00;ST=0.00;FW=8.00;P=1;PO=1;M=T_RE101R;TA=41;`

AutoCAD SHX Text
`1Y=112.00;2Y=168.00;3Y=52.12;LW=6.25;AA=5;KS=0.00;FD=6.00;BD=4.00;`

AutoCAD SHX Text
`4Y=140.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=275.00;LI=1;TY=200;W1=50.50;PP=ABRL;FI=C:\CADDY1\A1\FENSTER.PWN;`

AutoCAD SHX Text
`NM=101/101;BW=4.00;BB=2.00;ST=0.00;FW=8.00;P=1;PO=2;WI=1;M=F_RE101;TA=45;`

AutoCAD SHX Text
`1Y=100.00;2Y=120.00;3Y=130.00;LW=6.25;KS=0.00;FD=6.00;BD=4.00;4Y=224.00;`

AutoCAD SHX Text
`L1=6;L2=30;L3=6;L4=6;L5=29;L6=14;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=213.50;LI=1;TY=300;W1=50.50;PP=ABRL;FI=C:\CADDY1\A1\RECHTE1R.PDR;`

AutoCAD SHX Text
`NM=101/213R;T2= ;BW=4.00;BB=0.00;ST=0.00;FW=8.00;P=1;PO=1;M=T_RE101R;TA=41;`

AutoCAD SHX Text
`1Y=112.00;2Y=168.00;3Y=-104.29;LW=6.25;AA=5;KS=0.00;FD=6.00;BD=4.00;`

AutoCAD SHX Text
`4Y=140.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=275.00;LI=1;TY=200;W1=50.50;PP=ABRL;FI=C:\CADDY1\A1\FENSTER.PWN;`

AutoCAD SHX Text
`NM=101/101;BW=4.00;BB=2.00;ST=0.00;FW=8.00;P=1;PO=2;WI=1;M=F_RE101;TA=45;`

AutoCAD SHX Text
`1Y=100.00;2Y=120.00;3Y=130.00;LW=6.25;KS=0.00;FD=6.00;BD=4.00;4Y=224.00;`

AutoCAD SHX Text
`L1=6;L2=30;L3=6;L4=6;L5=29;L6=14;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=213.50;LI=1;TY=300;W1=50.50;PP=ABRL;FI=C:\CADDY1\A1\RECHTE1R.PDR;`

AutoCAD SHX Text
`NM=101/213R;T2= ;BW=4.00;BB=0.00;ST=0.00;FW=8.00;P=1;PO=1;M=T_RE101R;TA=41;`

AutoCAD SHX Text
`1Y=112.00;2Y=168.00;3Y=52.12;LW=6.25;AA=5;KS=0.00;FD=6.00;BD=4.00;`

AutoCAD SHX Text
`4Y=140.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=258.00;LI=1;TY=200;W1=56.75;PP=ABRL;FI=C:\CADDY1\A1\FENSTER.PWN;`

AutoCAD SHX Text
`NM=113/101;BW=4.00;BB=2.00;ST=0.00;FW=8.00;P=1;PO=2;WI=1;W=101.00;`

AutoCAD SHX Text
`M=F_RE113;TA=45;1Y=100.00;2Y=120.00;3Y=130.00;LW=6.25;KS=0.00;FD=6.00;`

AutoCAD SHX Text
`BD=4.00;4Y=224.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=22;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=258.00;LI=1;TY=200;W1=56.75;PP=ABRL;FI=C:\CADDY1\A1\FENSTER.PWN;`

AutoCAD SHX Text
`NM=113/101;BW=4.00;BB=2.00;ST=0.00;FW=8.00;P=1;PO=2;WI=1;W=101.00;`

AutoCAD SHX Text
`M=F_RE113;TA=45;1Y=100.00;2Y=120.00;3Y=130.00;LW=6.25;KS=0.00;FD=6.00;`

AutoCAD SHX Text
`BD=4.00;4Y=224.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=22;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=258.00;LI=1;TY=301;W1=106.75;PP=ABRL;FI=C:\CADDY1\A1\RECHTE1R.PDR;`

AutoCAD SHX Text
`NM=201/213R;T2= ;BW=4.00;BB=0.00;ST=0.00;FW=8.00;P=1;PO=1;W=213.50;`

AutoCAD SHX Text
`M=T_RE201D;TA=41;1Y=112.00;2Y=168.00;3Y=217.23;LW=6.25;AA=5;KS=0.00;`

AutoCAD SHX Text
`FD=6.00;BD=4.00;4Y=140.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;4Y=140.00;`

AutoCAD SHX Text
`END=0;`

AutoCAD SHX Text
`H=101.00;HP=90.00;LI=1;TY=200;W1=44.25;PP=ABRL;FI=C:\CADDY1\A1\FENSTER.PWN;`

AutoCAD SHX Text
`NM=_88/101;BW=4.00;BB=0.00;ST=0.00;FW=8.00;P=1;PO=2;WI=1;W=88.50;M=F_RE88;`

AutoCAD SHX Text
`TA=47;1Y=100.00;2Y=120.00;3Y=130.00;LW=6.25;KS=0.00;FD=6.00;BD=4.00;`

AutoCAD SHX Text
`4Y=224.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=14;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=101.00;HP=90.00;LI=1;TY=200;W1=44.25;PP=ABRL;FI=C:\CADDY1\A1\FENSTER.PWN;`

AutoCAD SHX Text
`NM=_88/101;BW=4.00;BB=0.00;ST=0.00;FW=8.00;P=1;PO=2;WI=1;W=88.50;M=F_RE88;`

AutoCAD SHX Text
`TA=47;1Y=100.00;2Y=120.00;3Y=130.00;LW=6.25;KS=0.00;FD=6.00;BD=4.00;`

AutoCAD SHX Text
`4Y=224.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=14;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=213.50;LI=1;TY=300;W1=50.50;PP=ABRL;FI=C:\CADDY1\A1\RECHTE1R.PDR;`

AutoCAD SHX Text
`NM=101/213R;T2= ;BW=4.00;BB=0.00;ST=0.00;FW=8.00;P=1;PO=1;M=T_RE101R;TA=41;`

AutoCAD SHX Text
`1Y=112.00;2Y=168.00;3Y=165.64;LW=6.25;AA=1;KS=0.00;FD=6.00;BD=4.00;`

AutoCAD SHX Text
`4Y=140.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=101.00;HP=90.00;LI=1;TY=200;W1=44.25;PP=ABRL;FI=C:\CADDY1\A1\FENSTER.PWN;`

AutoCAD SHX Text
`NM=_88/101;BW=4.00;BB=0.00;ST=0.00;FW=8.00;P=1;PO=2;WI=1;W=88.50;M=F_RE88;`

AutoCAD SHX Text
`TA=47;1Y=100.00;2Y=120.00;3Y=130.00;LW=6.25;KS=0.00;FD=6.00;BD=4.00;`

AutoCAD SHX Text
`4Y=224.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=14;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=101.00;HP=90.00;LI=1;TY=200;W1=44.25;PP=ABRL;FI=C:\CADDY1\A1\FENSTER.PWN;`

AutoCAD SHX Text
`NM=_88/101;BW=4.00;BB=0.00;ST=0.00;FW=8.00;P=1;PO=2;WI=1;W=88.50;M=F_RE88;`

AutoCAD SHX Text
`TA=47;1Y=100.00;2Y=120.00;3Y=130.00;LW=6.25;KS=0.00;FD=6.00;BD=4.00;`

AutoCAD SHX Text
`4Y=224.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=14;4Y=140.00;END=0;`

AutoCAD SHX Text
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AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`H=400.00;LI=1;TY=100;W1=350.00;PP=ABRL;FI=C:\CADDY\A1\DUBRU.PBR;NM=700/400;`

AutoCAD SHX Text
`BW=0.00;BB=0.00;ST=0.00;FW=0.00;W=700.00;M=G_700;TA=41;1X=-350.00;1Y=-3.50;`

AutoCAD SHX Text
`2X=-350.00;2Y=-3.50;KS=0.00;4X=-350.00;4Y=-3.50;L1=6;L2=1;L3=1;L4=1;L5=29;`

AutoCAD SHX Text
`L6=1;BS=GAR_FUEL;END=0;`

AutoCAD SHX Text
`H=400.00;LI=1;TY=100;W1=350.00;PP=ABRL;FI=C:\CADDY\A1\DUBRU.PBR;NM=700/400;`

AutoCAD SHX Text
`BW=0.00;BB=0.00;ST=0.00;FW=0.00;W=700.00;M=G_700;TA=45;1X=-350.00;`

AutoCAD SHX Text
`1Y=-23.50;2Y=259.38;KS=0.00;4Y=259.38;L1=6;L2=1;L3=1;L4=1;L5=29;L6=1;`

AutoCAD SHX Text
`BS=GAR_FUEL;END=0;`

AutoCAD SHX Text
`H=201.00;LI=1;TY=300;W1=101.00;AT=        ;PP=ABRL;FI=C:\CADDY\A1\TUER.PDR;`

AutoCAD SHX Text
`NM=101.0;T1=        ;T2= ;BW=3.00;BB=0.00;ST=0.00;FW=6.00;PO=1;W=101.00;`

AutoCAD SHX Text
`M=TU_101.0;TA=41;1Y=80.00;2Y=120.00;3Y=-154.46;AA=1;KS=0.00;FD=6.00;`

AutoCAD SHX Text
`BD=3.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=280.00;LI=1;TY=100;W1=100.00;PP=ABRL;FI=C:\CADDY\A1\DUBRU.PBR;`

AutoCAD SHX Text
`NM=200/250G;BW=0.00;BB=0.00;ST=0.00;FW=0.00;W=280.00;M=G_200;TA=45;`

AutoCAD SHX Text
`1X=-100.00;1Y=-32.50;2Y=92.96;3Y=130.00;KS=0.00;4Y=160.00;L1=6;L2=1;L3=1;`

AutoCAD SHX Text
`L4=1;L5=29;L6=1;BS=GAR_FUEL;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=280.00;LI=1;TY=100;W1=100.00;PP=ABRL;FI=C:\CADDY\A1\DUBRU.PBR;`

AutoCAD SHX Text
`NM=200/250G;BW=0.00;BB=0.00;ST=0.00;FW=0.00;W=280.00;M=G_200;TA=45;`

AutoCAD SHX Text
`1X=-100.00;1Y=-32.50;2Y=-70.10;3Y=130.00;KS=0.00;4Y=160.00;L1=6;L2=1;L3=1;`

AutoCAD SHX Text
`L4=1;L5=29;L6=1;BS=GAR_FUEL;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=280.00;LI=1;TY=100;W1=100.00;PP=ABRL;FI=C:\CADDY\A1\DUBRU.PBR;`

AutoCAD SHX Text
`NM=280/280G;BW=0.00;BB=0.00;ST=0.00;FW=0.00;W=280.00;M=G_280;TA=45;`

AutoCAD SHX Text
`1X=-100.00;1Y=-3.50;2Y=-161.35;3Y=130.00;KS=0.00;4Y=160.00;L1=6;L2=1;L3=1;`

AutoCAD SHX Text
`L4=1;L5=29;L6=1;BS=GAR_FUEL;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=317.00;LI=1;TY=100;W1=100.00;PP=ABRL;FI=C:\CADDY\A1\DUBRU.PBR;`

AutoCAD SHX Text
`NM=301/317G;BW=0.00;BB=0.00;ST=0.00;FW=0.00;W=301.00;M=G_301;TA=45;`

AutoCAD SHX Text
`1X=-100.00;1Y=-10.00;2Y=40.85;3Y=130.00;KS=0.00;4Y=160.00;L1=6;L2=1;L3=1;`

AutoCAD SHX Text
`L4=1;L5=29;L6=1;BS=GAR_FUEL;4Y=140.00;END=0;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`H=201.00;LI=1;TY=300;W1=40.00;AT=        ;PP=ABRL;FI=C:\CADDY\A1\TUER.PDR;`

AutoCAD SHX Text
`NM=_76.0;T1=        ;T2= ;BW=3.00;BB=0.00;ST=0.00;FW=3.00;PO=1;W=76.00;`

AutoCAD SHX Text
`M=TU_76.0;TA=41;1Y=80.00;2Y=120.00;3Y=-53.66;AA=5;KS=0.00;FD=3.00;BD=3.00;`

AutoCAD SHX Text
`4Y=-81.23;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=210.00;LI=1;TY=100;W1=50.50;PP=ABRL;FI=C:\CADDY\A1\DUBRU.PBR;NM=D__3;`

AutoCAD SHX Text
`BW=0.00;BB=0.00;ST=0.00;FW=0.00;W=101.00;M= ;TA=45;1X=-50.50;1Y=-12.00;`

AutoCAD SHX Text
`2Y=75.24;3Y=130.00;KS=0.00;4Y=160.00;L1=6;L2=7;L3=7;L4=7;L5=29;L6=7;`

AutoCAD SHX Text
`4Y=140.00;END=0;`

AutoCAD SHX Text
`H=210.00;LI=1;TY=300;W1=60.00;AT=        ;PP=ABRL;FI=C:\CADDY\A1\TUER.PDR;`

AutoCAD SHX Text
`NM=88.5;T1=        ;T2= ;BW=3.00;BB=0.00;ST=0.00;FW=3.00;PO=1;W=88.50;`

AutoCAD SHX Text
`M=TU_88.5;TA=9;1Y=80.00;2Y=120.00;3Y=85.39;AA=1;KS=0.00;FD=3.00;BD=3.00;`

AutoCAD SHX Text
`4Y=140.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=226.00;TY=300;W1=60.00;AT=        ;PP=ABRL;FI=C:\CADDY\A1\TUER.PDR;`

AutoCAD SHX Text
`NM=126.0;T1=        ;T2= ;BW=3.00;BB=0.00;ST=0.00;FW=3.00;PO=1;W=126.00;`

AutoCAD SHX Text
`M=TU_126.0;TA=41;1Y=80.00;2Y=120.00;3Y=311.20;AA=5;KS=0.00;FD=3.00;BD=3.00;`

AutoCAD SHX Text
`4Y=140.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;4Y=140.00;END=0;`

AutoCAD SHX Text
Kompressor

AutoCAD SHX Text
`H=201.00;LI=1;TY=300;W1=101.00;AT=        ;PP=ABRL;FI=C:\CADDY\A1\TUER.PDR;`

AutoCAD SHX Text
`NM=101.0;T1=        ;T2= ;BW=3.00;BB=0.00;ST=0.00;FW=6.00;PO=1;W=101.00;`

AutoCAD SHX Text
`M=TU_101.0;TA=41;1Y=80.00;2Y=120.00;3Y=132.43;AA=5;KS=0.00;FD=6.00;BD=3.00;`

AutoCAD SHX Text
`L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=225.00;LI=1;TY=300;W1=101.00;AT=        ;PP=ABRL;FI=C:\CADDY\A1\TUER.PDR;`

AutoCAD SHX Text
`NM=101.0;T1=        ;T2= ;BW=3.00;BB=0.00;ST=0.00;FW=6.00;PO=1;W=101.00;`

AutoCAD SHX Text
`M=TU_101.0;TA=41;1X=-50.50;1Y=-3.50;2X=-50.50;2Y=-3.50;3Y=-59.76;AA=5;`

AutoCAD SHX Text
`KS=0.00;FD=6.00;BD=3.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;END=0;`

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
X

AutoCAD SHX Text
`H=251.00;LI=1;TY=301;W1=125.50;PP=ABRL;FI=C:\CADDY\A1\TUER.PDR;NM=201/213R;`

AutoCAD SHX Text
`T2= ;BW=4.00;BB=0.00;ST=0.00;FW=8.00;P=1;PO=1;W=251.00;M=T_RE201D;TA=33;`

AutoCAD SHX Text
`1Y=80.00;2Y=120.00;3X=-125.50;3Y=-35.00;LW=15.00;AA=3;KS=0.00;FD=6.00;`

AutoCAD SHX Text
`BD=4.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=201.00;LI=1;TY=100;W1=50.50;PP=ABRL;FI=C:\CADDY\A1\DUBRU.PBR;NM=D__3;`

AutoCAD SHX Text
`BW=0.00;BB=0.00;ST=0.00;FW=0.00;W=101.00;M= ;TA=45;1X=-50.50;1Y=-23.50;`

AutoCAD SHX Text
`2Y=-80.75;KS=0.00;4Y=-80.75;L1=6;L2=1;L3=1;L4=1;L5=29;L6=1;END=0;`

AutoCAD SHX Text
PS

AutoCAD SHX Text
`H=251.00;LI=1;TY=301;W1=125.50;PP=ABRL;FI=C:\CADDY\A1\RECHTE2R.PDR;`

AutoCAD SHX Text
`NM=201/213R;T2= ;BW=4.00;BB=0.00;ST=0.00;FW=8.00;L=251.00;P=1;PO=1;`

AutoCAD SHX Text
`W=251.00;M=T_RE201D;TA=41;1Y=100.00;2Y=150.00;3Y=147.01;LW=15.00;AA=7;`

AutoCAD SHX Text
`KS=6.00;FD=6.00;BD=4.00;4Y=140.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;`

AutoCAD SHX Text
`4Y=140.00;END=0;`

AutoCAD SHX Text
`UK=0.000000;OK=275.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`H=300.00;LI=1;TY=100;W1=362.50;PP=ABRL;FI=C:\CADDY\A1\DUBRU.PBR;NM=700/400;`

AutoCAD SHX Text
`BW=0.00;BB=0.00;ST=0.00;FW=0.00;W=725.00;M=G_700;TA=45;1X=-362.50;`

AutoCAD SHX Text
`1Y=-28.50;2Y=-652.19;KS=0.00;4Y=-652.19;L1=6;L2=33;L3=33;L4=33;L5=29;L6=33;`

AutoCAD SHX Text
`BS=GAR_FUEL;END=0;`

AutoCAD SHX Text
`H=300.00;LI=1;TY=100;W1=362.50;PP=ABRL;FI=C:\CADDY\A1\DUBRU.PBR;NM=700/400;`

AutoCAD SHX Text
`BW=0.00;BB=0.00;ST=0.00;FW=0.00;W=725.00;M=G_700;TA=45;1X=-362.50;`

AutoCAD SHX Text
`1Y=-28.50;2Y=-648.17;KS=0.00;4Y=-648.17;L1=6;L2=33;L3=33;L4=33;L5=29;L6=33;`

AutoCAD SHX Text
`BS=GAR_FUEL;END=0;`

AutoCAD SHX Text
`H=300.00;LI=1;TY=100;W1=362.50;PP=ABRL;FI=C:\CADDY\A1\DUBRU.PBR;NM=700/400;`

AutoCAD SHX Text
`BW=0.00;BB=0.00;ST=0.00;FW=0.00;W=725.00;M=G_700;TA=45;1X=-362.50;`

AutoCAD SHX Text
`1Y=-28.50;2Y=-648.17;KS=0.00;4Y=-648.17;L1=6;L2=33;L3=33;L4=33;L5=29;L6=33;`

AutoCAD SHX Text
`BS=GAR_FUEL;END=0;`

AutoCAD SHX Text
`H=300.00;LI=1;TY=100;W1=362.50;PP=ABRL;FI=C:\CADDY\A1\DUBRU.PBR;NM=700/400;`

AutoCAD SHX Text
`BW=0.00;BB=0.00;ST=0.00;FW=0.00;W=725.00;M=G_700;TA=45;1X=-362.50;`

AutoCAD SHX Text
`1Y=-28.50;2Y=-644.14;KS=0.00;4Y=-644.14;L1=6;L2=33;L3=33;L4=33;L5=29;L6=33;`

AutoCAD SHX Text
`BS=GAR_FUEL;END=0;`

AutoCAD SHX Text
`H=300.00;LI=1;TY=100;W1=362.50;PP=ABRL;FI=C:\CADDY\A1\DUBRU.PBR;NM=700/400;`

AutoCAD SHX Text
`BW=0.00;BB=0.00;ST=0.00;FW=0.00;W=725.00;M=G_700;TA=45;1X=-362.50;`

AutoCAD SHX Text
`1Y=-28.50;2Y=-648.17;KS=0.00;4Y=-648.17;L1=6;L2=33;L3=33;L4=33;L5=29;L6=33;`

AutoCAD SHX Text
`BS=GAR_FUEL;END=0;`

AutoCAD SHX Text
`UK=0.000000;OK=275.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=275.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=275.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=275.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=275.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=275.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=275.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`H=251.00;LI=1;TY=301;W1=125.50;PP=ABRL;FI=C:\CADDY\A1\RECHTE2R.PDR;`

AutoCAD SHX Text
`NM=201/213R;T2= ;BW=4.00;BB=0.00;ST=0.00;FW=7.00;L=251.00;P=1;PO=1;`

AutoCAD SHX Text
`W=251.00;M=T_RE201D;TA=41;1Y=120.00;2Y=180.00;3Y=193.92;LW=3.50;AA=7;`

AutoCAD SHX Text
`KS=6.00;FD=7.00;BD=4.00;4Y=140.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;`

AutoCAD SHX Text
`4Y=140.00;END=0;`

AutoCAD SHX Text
`UK=0.000000;OK=275.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=275.000000;M=;IV=14.000000;`

AutoCAD SHX Text
PS

AutoCAD SHX Text
`H=210.00;LI=1;TY=300;W1=50.50;PP=ABRL;FI=C:\CADDY\A1\RECHTE2R.PDR;`

AutoCAD SHX Text
`NM=101/213R;T2= ;BW=4.00;BB=0.00;ST=0.00;FW=8.00;P=1;PO=1;W=126.00;`

AutoCAD SHX Text
`M=T_RE101R;TA=41;1Y=140.00;2Y=210.00;3Y=-138.85;LW=15.00;AA=1;KS=0.00;`

AutoCAD SHX Text
`FD=6.00;BD=4.00;4Y=140.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;4Y=140.00;`

AutoCAD SHX Text
`END=0;`

AutoCAD SHX Text
`H=134.00;HP=100.00;LI=1;TY=200;W1=119.25;PP=ABRL;`

AutoCAD SHX Text
`FI=C:\CADDY\A1\FE1-251.PWN;NM=F238/138;BW=6.00;BB=0.00;ST=8.00;FW=8.00;P=2;`

AutoCAD SHX Text
`PO=2;WI=2;W=236.00;M=FE_238;TA=63;1Y=100.00;2Y=120.00;3Y=130.00;LW=12.50;`

AutoCAD SHX Text
`KS=0.00;FD=8.00;BD=6.00;DD=160.00;4Y=280.00;L1=6;L2=30;L3=6;L4=6;L5=29;`

AutoCAD SHX Text
`L6=6;4Y=140.00;END=0;`

AutoCAD SHX Text
PS

AutoCAD SHX Text
PS

AutoCAD SHX Text
`H=201.00;LI=1;TY=300;W1=50.50;PP=ABRL;FI=C:\CADDY\A1\RECHTE2R.PDR;`

AutoCAD SHX Text
`NM=101/213Z;T2= ;BW=4.00;BB=0.00;ST=0.00;FW=8.00;PO=1;W=125.00;M=T_RE101Z;`

AutoCAD SHX Text
`TA=41;1Y=140.00;2Y=210.00;3Y=-91.59;AA=5;KS=0.00;FD=6.00;BD=4.00;4Y=140.00;`

AutoCAD SHX Text
`L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=300.00;LI=1;TY=100;W1=212.50;PP=ABRL;FI=C:\CADDY\A1\DUBRU.PBR;NM=700/400;`

AutoCAD SHX Text
`BW=0.00;BB=0.00;ST=0.00;FW=0.00;W=436.50;M=G_700;TA=45;1X=-212.50;`

AutoCAD SHX Text
`1Y=-28.50;2Y=-637.10;3Y=130.00;KS=0.00;4Y=280.00;L1=6;L2=33;L3=33;L4=33;`

AutoCAD SHX Text
`L5=29;L6=33;BS=GAR_FUEL;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=251.00;LI=1;TY=301;W1=162.00;PP=ABRL;FI=C:\CADDY\A1\RECHTE2R.PDR;`

AutoCAD SHX Text
`NM=201/213R;T2= ;BW=4.00;BB=0.00;ST=0.00;FW=8.00;L=251.00;P=1;PO=1;`

AutoCAD SHX Text
`W=238.50;M=T_RE201D;TA=33;1Y=140.00;2Y=210.00;3X=-100.50;3Y=-28.50;LW=3.50;`

AutoCAD SHX Text
`AA=7;KS=6.00;FD=6.00;BD=4.00;4Y=140.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;`

AutoCAD SHX Text
`BS=0;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=213.50;LI=1;TY=308;W1=88.00;PP=ABRL;FI=C:\CADDY\A1\RECHTE2R.PDR;`

AutoCAD SHX Text
`NM=176/213R;T2= ;BW=4.00;BB=0.00;ST=0.00;FW=8.00;P=1;PO=1;W=176.00;`

AutoCAD SHX Text
`M=T_RE176D;TA=41;1Y=80.00;2Y=120.00;3Y=133.72;LW=3.50;AA=5;KS=0.00;FD=6.00;`

AutoCAD SHX Text
`BD=4.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=213.50;LI=1;TY=308;W1=88.00;PP=ABRL;FI=C:\CADDY\A1\RECHTE2R.PDR;`

AutoCAD SHX Text
`NM=176/213R;T2= ;BW=4.00;BB=0.00;ST=0.00;FW=8.00;P=1;PO=1;W=176.00;`

AutoCAD SHX Text
`M=T_RE176D;TA=41;1Y=80.00;2Y=120.00;3Y=97.99;LW=5.00;AA=5;KS=0.00;FD=6.00;`

AutoCAD SHX Text
`BD=4.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;4Y=140.00;END=0;`

AutoCAD SHX Text
`UK=0.000000;OK=275.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=275.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=275.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=275.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=275.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=275.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=275.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=275.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=275.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=-1.000000;OK=-1.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=275.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`H=226.00;LI=1;TY=300;W1=50.50;PP=ABRL;FI=C:\CADDY1\A1\RECHTE1R.PDR;`

AutoCAD SHX Text
`NM=101/213R;T2= ;BW=4.00;BB=0.00;ST=0.00;FW=8.00;P=1;PO=1;W=101.00;`

AutoCAD SHX Text
`M=T_RE101R;TA=41;1Y=112.00;2Y=168.00;3Y=-169.01;LW=12.00;AA=5;KS=0.00;`

AutoCAD SHX Text
`FD=6.00;BD=4.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=226.00;LI=1;TY=100;W1=50.50;PP=ABRL;FI=C:\CADDY1\A1\DUBRU.PBR;NM=D__3;`

AutoCAD SHX Text
`BW=0.00;BB=0.00;ST=0.00;FW=0.00;W=101.00;M= ;TA=45;1X=-50.50;1Y=-12.00;`

AutoCAD SHX Text
`2Y=-168.27;3Y=130.00;KS=0.00;4Y=224.00;L1=6;L2=6;L3=6;L4=6;L5=29;L6=6;`

AutoCAD SHX Text
`4Y=140.00;END=0;`

AutoCAD SHX Text
`H=201.00;LI=1;TY=300;W1=31.75;PP=ABRL;FI=C:\CADDY1\A1\RECHTE1R.PDR;`

AutoCAD SHX Text
`NM=_63/213R;T2= ;BW=4.00;BB=0.00;ST=0.00;FW=4.00;P=1;PO=1;W=63.50;`

AutoCAD SHX Text
`M=T_RE63_R;TA=41;1Y=112.00;2Y=168.00;3Y=-68.20;LW=3.00;AA=5;KS=0.00;`

AutoCAD SHX Text
`FD=6.00;BD=4.00;4Y=140.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;4Y=140.00;`

AutoCAD SHX Text
`END=0;`

AutoCAD SHX Text
`H=201.00;LI=1;TY=300;W1=31.75;PP=ABRL;FI=C:\CADDY1\A1\RECHTE1R.PDR;`

AutoCAD SHX Text
`NM=_63/213R;T2= ;BW=4.00;BB=0.00;ST=0.00;FW=4.00;P=1;PO=1;W=63.50;`

AutoCAD SHX Text
`M=T_RE63_R;TA=41;1Y=112.00;2Y=168.00;3Y=-68.20;LW=3.00;AA=5;KS=0.00;`

AutoCAD SHX Text
`FD=6.00;BD=4.00;4Y=140.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;4Y=140.00;`

AutoCAD SHX Text
`END=0;`

AutoCAD SHX Text
`H=201.00;LI=1;TY=100;W1=119.25;PP=ABRL;FI=C:\CADDY1\A1\DUBRU.PBR;NM=D_14;`

AutoCAD SHX Text
`BW=0.00;BB=0.00;ST=0.00;FW=0.00;W=235.00;M= ;TA=45;1X=-119.25;1Y=-12.00;`

AutoCAD SHX Text
`2Y=37.04;3Y=130.00;KS=0.00;4Y=224.00;L1=6;L2=13;L3=13;L4=13;L5=29;L6=13;`

AutoCAD SHX Text
`4Y=140.00;END=0;`

AutoCAD SHX Text
`H=125.00;HP=90.00;LI=1;TY=200;W1=100.50;PP=ABRL;`

AutoCAD SHX Text
`FI=C:\CADDY1\A1\FENSTER.PWN;NM=201/101;BW=4.00;BB=2.00;ST=0.00;FW=5.00;P=1;`

AutoCAD SHX Text
`PO=2;WI=1;W=111.50;M=F_RE201Z;TA=47;1Y=100.00;2Y=120.00;3Y=130.00;LW=7.50;`

AutoCAD SHX Text
`KS=0.00;FD=10.00;BD=4.00;4Y=224.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=13;`

AutoCAD SHX Text
`4Y=140.00;END=0;`

AutoCAD SHX Text
`H=201.00;LI=1;TY=100;W1=119.25;PP=ABRL;FI=C:\CADDY1\A1\DUBRU.PBR;NM=D_14;`

AutoCAD SHX Text
`BW=0.00;BB=0.00;ST=0.00;FW=0.00;W=235.00;M= ;TA=45;1X=-119.25;1Y=-12.00;`

AutoCAD SHX Text
`2Y=37.04;3Y=130.00;KS=0.00;4Y=224.00;L1=6;L2=13;L3=13;L4=13;L5=29;L6=13;`

AutoCAD SHX Text
`4Y=140.00;END=0;`

AutoCAD SHX Text
`H=201.00;LI=1;TY=100;W1=119.25;PP=ABRL;FI=C:\CADDY1\A1\DUBRU.PBR;NM=D_14;`

AutoCAD SHX Text
`BW=0.00;BB=0.00;ST=0.00;FW=0.00;W=235.00;M= ;TA=45;1X=-119.25;1Y=-12.00;`

AutoCAD SHX Text
`2Y=37.04;3Y=130.00;KS=0.00;4Y=224.00;L1=6;L2=13;L3=13;L4=13;L5=29;L6=13;`

AutoCAD SHX Text
`4Y=140.00;END=0;`

AutoCAD SHX Text
AU

AutoCAD SHX Text
Metallzaun

AutoCAD SHX Text
Metallzaun

AutoCAD SHX Text
Metallzaun

AutoCAD SHX Text
Metallzaun

AutoCAD SHX Text
Metallzaun

AutoCAD SHX Text
Metallzaun



Lager
003

Lager
006

Lager
002

Flur
004

Flur
001

Büro
005

Raum
008

Flur
007

Flächen nach DIN 277
NF 1
NF 2
NF 3
NF 4
NF 5
NF 6
NF 7
TF 8
VF 9
KF
Sonstige

RÄUME

Nummer Name

Allgemein

Fläche Brutto Anrechenbarkeit Fläche Netto Umfang

Fläche & Umfang

GRUNDRISS OBERGESCHOSS
HALLE

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`H=280.00;LI=1;TY=100;W1=100.00;PP=ABRL;FI=C:\CADDY\A1\DUBRU.PBR;`

AutoCAD SHX Text
`NM=200/250G;BW=0.00;BB=0.00;ST=0.00;FW=0.00;W=280.00;M=G_200;TA=45;`

AutoCAD SHX Text
`1X=-100.00;1Y=-32.50;2Y=92.96;3Y=130.00;KS=0.00;4Y=160.00;L1=6;L2=1;L3=1;`

AutoCAD SHX Text
`L4=1;L5=29;L6=1;BS=GAR_FUEL;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=280.00;LI=1;TY=100;W1=100.00;PP=ABRL;FI=C:\CADDY\A1\DUBRU.PBR;`

AutoCAD SHX Text
`NM=200/250G;BW=0.00;BB=0.00;ST=0.00;FW=0.00;W=280.00;M=G_200;TA=45;`

AutoCAD SHX Text
`1X=-100.00;1Y=-32.50;2Y=-70.10;3Y=130.00;KS=0.00;4Y=160.00;L1=6;L2=1;L3=1;`

AutoCAD SHX Text
`L4=1;L5=29;L6=1;BS=GAR_FUEL;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=280.00;LI=1;TY=100;W1=100.00;PP=ABRL;FI=C:\CADDY\A1\DUBRU.PBR;`

AutoCAD SHX Text
`NM=280/280G;BW=0.00;BB=0.00;ST=0.00;FW=0.00;W=280.00;M=G_280;TA=45;`

AutoCAD SHX Text
`1X=-100.00;1Y=-3.50;2Y=-161.35;3Y=130.00;KS=0.00;4Y=160.00;L1=6;L2=1;L3=1;`

AutoCAD SHX Text
`L4=1;L5=29;L6=1;BS=GAR_FUEL;4Y=140.00;END=0;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`H=210.00;LI=1;TY=100;W1=50.50;PP=ABRL;FI=C:\CADDY\A1\DUBRU.PBR;NM=D__3;`

AutoCAD SHX Text
`BW=0.00;BB=0.00;ST=0.00;FW=0.00;W=101.00;M= ;TA=45;1X=-50.50;1Y=-12.00;`

AutoCAD SHX Text
`2Y=75.24;3Y=130.00;KS=0.00;4Y=160.00;L1=6;L2=7;L3=7;L4=7;L5=29;L6=7;`

AutoCAD SHX Text
`4Y=140.00;END=0;`

AutoCAD SHX Text
`H=210.00;LI=1;TY=100;W1=50.50;PP=ABRL;FI=C:\CADDY\A1\DUBRU.PBR;NM=D__3;`

AutoCAD SHX Text
`BW=0.00;BB=0.00;ST=0.00;FW=0.00;W=113.50;M= ;TA=45;1X=-50.50;1Y=-12.00;`

AutoCAD SHX Text
`2Y=164.29;3Y=130.00;KS=0.00;4Y=160.00;L1=6;L2=7;L3=7;L4=7;L5=29;L6=7;`

AutoCAD SHX Text
`4Y=140.00;END=0;`

AutoCAD SHX Text
EURO-Lift 

AutoCAD SHX Text
`H=210.00;LI=1;TY=300;W1=101.00;AT=        ;PP=ABRL;FI=C:\CADDY\A1\TUER.PDR;`

AutoCAD SHX Text
`NM=101.0;T1=        ;T2= ;BW=3.00;BB=0.00;ST=0.00;FW=6.00;PO=1;W=101.00;`

AutoCAD SHX Text
`M=TU_101.0;TA=41;1Y=80.00;2Y=120.00;3Y=-82.01;AA=5;KS=0.00;FD=6.00;BD=3.00;`

AutoCAD SHX Text
`4Y=140.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;4Y=140.00;END=0;`

AutoCAD SHX Text
`

AutoCAD SHX Text
`H=300.00;LI=1;TY=100;W1=362.50;PP=ABRL;FI=C:\CADDY\A1\DUBRU.PBR;NM=700/400;`

AutoCAD SHX Text
`BW=0.00;BB=0.00;ST=0.00;FW=0.00;W=725.00;M=G_700;TA=45;1X=-362.50;`

AutoCAD SHX Text
`1Y=-28.50;2Y=-652.19;KS=0.00;4Y=-652.19;L1=6;L2=33;L3=33;L4=33;L5=29;L6=33;`

AutoCAD SHX Text
`BS=GAR_FUEL;END=0;`

AutoCAD SHX Text
`H=300.00;LI=1;TY=100;W1=362.50;PP=ABRL;FI=C:\CADDY\A1\DUBRU.PBR;NM=700/400;`

AutoCAD SHX Text
`BW=0.00;BB=0.00;ST=0.00;FW=0.00;W=725.00;M=G_700;TA=45;1X=-362.50;`

AutoCAD SHX Text
`1Y=-28.50;2Y=-648.17;KS=0.00;4Y=-648.17;L1=6;L2=33;L3=33;L4=33;L5=29;L6=33;`

AutoCAD SHX Text
`BS=GAR_FUEL;END=0;`

AutoCAD SHX Text
`H=300.00;LI=1;TY=100;W1=362.50;PP=ABRL;FI=C:\CADDY\A1\DUBRU.PBR;NM=700/400;`

AutoCAD SHX Text
`BW=0.00;BB=0.00;ST=0.00;FW=0.00;W=725.00;M=G_700;TA=45;1X=-362.50;`

AutoCAD SHX Text
`1Y=-28.50;2Y=-648.17;KS=0.00;4Y=-648.17;L1=6;L2=33;L3=33;L4=33;L5=29;L6=33;`

AutoCAD SHX Text
`BS=GAR_FUEL;END=0;`

AutoCAD SHX Text
`H=300.00;LI=1;TY=100;W1=362.50;PP=ABRL;FI=C:\CADDY\A1\DUBRU.PBR;NM=700/400;`

AutoCAD SHX Text
`BW=0.00;BB=0.00;ST=0.00;FW=0.00;W=725.00;M=G_700;TA=45;1X=-362.50;`

AutoCAD SHX Text
`1Y=-28.50;2Y=-644.14;KS=0.00;4Y=-644.14;L1=6;L2=33;L3=33;L4=33;L5=29;L6=33;`

AutoCAD SHX Text
`BS=GAR_FUEL;END=0;`

AutoCAD SHX Text
`H=300.00;LI=1;TY=100;W1=362.50;PP=ABRL;FI=C:\CADDY\A1\DUBRU.PBR;NM=700/400;`

AutoCAD SHX Text
`BW=0.00;BB=0.00;ST=0.00;FW=0.00;W=725.00;M=G_700;TA=45;1X=-362.50;`

AutoCAD SHX Text
`1Y=-28.50;2Y=-648.17;KS=0.00;4Y=-648.17;L1=6;L2=33;L3=33;L4=33;L5=29;L6=33;`

AutoCAD SHX Text
`BS=GAR_FUEL;END=0;`

AutoCAD SHX Text
X

AutoCAD SHX Text
`UK=0.000000;OK=275.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=275.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=275.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=275.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=275.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=275.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=275.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=275.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=275.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=275.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=275.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=275.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=275.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=275.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=275.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=275.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`UK=0.000000;OK=275.000000;M=;IV=14.000000;`

AutoCAD SHX Text
DRAHTZAUN

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`H=258.00;LI=1;TY=200;W1=50.50;PP=ABRL;FI=C:\CADDY\A1\FE1-251.PWN;`

AutoCAD SHX Text
`NM=F101/138;BW=6.00;BB=0.00;ST=8.00;FW=5.00;PO=2;WI=2;W=105.00;M=FE_101;`

AutoCAD SHX Text
`TA=45;1X=-52.50;1Y=-37.50;2Y=-44.05;3Y=130.00;LW=2.50;KS=0.00;FD=5.00;`

AutoCAD SHX Text
`BD=6.00;DD=160.00;4Y=-44.05;L1=6;L2=30;L3=6;L4=6;L5=29;L6=2;END=0;`

AutoCAD SHX Text
`H=258.00;LI=1;TY=200;W1=50.50;PP=ABRL;FI=C:\CADDY\A1\FE1-251.PWN;`

AutoCAD SHX Text
`NM=F101/138;BW=6.00;BB=0.00;ST=8.00;FW=5.00;PO=2;WI=2;W=105.00;M=FE_101;`

AutoCAD SHX Text
`TA=45;1X=-52.50;1Y=-2.50;2Y=-45.69;3Y=130.00;LW=2.50;KS=0.00;FD=5.00;`

AutoCAD SHX Text
`BD=6.00;DD=160.00;4Y=280.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=2;4Y=140.00;`

AutoCAD SHX Text
`END=0;`

AutoCAD SHX Text
`H=258.00;LI=1;TY=200;W1=50.50;PP=ABRL;FI=C:\CADDY\A1\FE1-251.PWN;`

AutoCAD SHX Text
`NM=F101/138;BW=6.00;BB=0.00;ST=8.00;FW=5.00;P=1;PO=2;WI=2;W=105.00;`

AutoCAD SHX Text
`M=FE_101;TA=45;1X=-52.50;1Y=-37.50;2Y=-48.37;3Y=130.00;LW=2.50;KS=0.00;`

AutoCAD SHX Text
`FD=5.00;BD=6.00;DD=160.00;4Y=-48.37;L1=6;L2=30;L3=6;L4=6;L5=29;L6=2;END=0;`

AutoCAD SHX Text
PS

AutoCAD SHX Text
`H=258.00;LI=1;TY=200;W1=50.50;PP=ABRL;FI=C:\CADDY\A1\FE1-251.PWN;`

AutoCAD SHX Text
`NM=F101/138;BW=6.00;BB=0.00;ST=8.00;FW=5.00;PO=2;WI=2;W=104.95;M=FE_101;`

AutoCAD SHX Text
`TA=45;1X=-52.47;1Y=-37.50;2Y=-81.96;3Y=130.00;LW=2.50;KS=0.00;FD=5.00;`

AutoCAD SHX Text
`BD=6.00;DD=160.00;4Y=-81.96;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;END=0;`

AutoCAD SHX Text
`H=300.00;LI=1;TY=100;W1=212.50;PP=ABRL;FI=C:\CADDY\A1\DUBRU.PBR;NM=700/400;`

AutoCAD SHX Text
`BW=0.00;BB=0.00;ST=0.00;FW=0.00;W=436.50;M=G_700;TA=45;1X=-212.50;`

AutoCAD SHX Text
`1Y=-28.50;2Y=-637.10;3Y=130.00;KS=0.00;4Y=280.00;L1=6;L2=33;L3=33;L4=33;`

AutoCAD SHX Text
`L5=29;L6=33;BS=GAR_FUEL;4Y=140.00;END=0;`

AutoCAD SHX Text
`H=257.00;LI=1;TY=200;W1=52.50;PP=ABRL;FI=C:\CADDY\A1\FE1-251.PWN;`

AutoCAD SHX Text
`NM=F105/257;BW=6.00;BB=0.00;ST=8.00;FW=5.00;P=1;PO=2;WI=2;W=105.00;`

AutoCAD SHX Text
`M=FE_101;TA=45;1X=-52.50;1Y=-2.50;2Y=19.40;LW=2.50;KS=0.00;FD=5.00;BD=6.00;`

AutoCAD SHX Text
`4Y=19.40;L1=6;L2=30;L3=6;L4=6;L5=29;L6=495;END=0;`

AutoCAD SHX Text
`H=211.00;LI=1;TY=300;W1=44.25;PP=ABRL;FI=C:\CADDY\A1\RECHTE2R.PDR;`

AutoCAD SHX Text
`NM=_88/213R;T2= ;BW=4.00;BB=0.00;ST=0.00;FW=5.00;P=1;PO=1;W=93.00;`

AutoCAD SHX Text
`M=T_RE88_R;TA=41;1X=-46.50;1Y=-2.50;2X=-46.50;2Y=-2.50;3Y=79.46;LW=2.50;`

AutoCAD SHX Text
`AA=1;KS=0.00;FD=5.00;BD=4.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;END=0;`

AutoCAD SHX Text
`H=257.00;LI=1;TY=200;W1=52.50;PP=ABRL;FI=C:\CADDY\A1\FE1-251.PWN;`

AutoCAD SHX Text
`NM=F105/257;BW=6.00;BB=0.00;ST=8.00;FW=5.00;P=1;PO=2;WI=2;W=105.00;`

AutoCAD SHX Text
`M=FE_101;TA=45;1X=-52.50;1Y=-37.50;2Y=-44.92;LW=2.50;KS=0.00;FD=5.00;`

AutoCAD SHX Text
`BD=6.00;4Y=-44.92;L1=6;L2=30;L3=6;L4=6;L5=29;L6=495;END=0;`

AutoCAD SHX Text
`H=257.00;LI=1;TY=200;W1=52.50;PP=ABRL;FI=C:\CADDY\A1\FE1-251.PWN;`

AutoCAD SHX Text
`NM=F105/257;BW=6.00;BB=0.00;ST=8.00;FW=5.00;P=1;PO=2;WI=2;W=105.00;`

AutoCAD SHX Text
`M=FE_101;TA=45;1X=-52.50;1Y=-37.50;2Y=-41.92;LW=2.50;KS=0.00;FD=5.00;`

AutoCAD SHX Text
`BD=6.00;4Y=-41.92;L1=6;L2=30;L3=6;L4=6;L5=29;L6=495;END=0;`

AutoCAD SHX Text
`H=257.00;LI=1;TY=200;W1=52.50;PP=ABRL;FI=C:\CADDY\A1\FE1-251.PWN;`

AutoCAD SHX Text
`NM=F105/257;BW=6.00;BB=0.00;ST=8.00;FW=5.00;P=1;PO=2;WI=2;W=105.00;`

AutoCAD SHX Text
`M=FE_101;TA=45;1X=-52.50;1Y=-2.50;2Y=9.92;LW=2.50;KS=0.00;FD=5.00;BD=6.00;`

AutoCAD SHX Text
`4Y=9.92;L1=6;L2=30;L3=6;L4=6;L5=29;L6=495;END=0;`

AutoCAD SHX Text
`H=257.00;LI=1;TY=200;W1=52.50;PP=ABRL;FI=C:\CADDY\A1\FE1-251.PWN;`

AutoCAD SHX Text
`NM=F105/257;BW=6.00;BB=0.00;ST=8.00;FW=5.00;P=1;PO=2;WI=2;W=105.00;`

AutoCAD SHX Text
`M=FE_101;TA=45;1X=-52.50;1Y=-2.50;2Y=1.94;LW=2.50;KS=0.00;FD=5.00;BD=6.00;`

AutoCAD SHX Text
`4Y=1.94;L1=6;L2=30;L3=6;L4=6;L5=29;L6=495;END=0;`

AutoCAD SHX Text
`H=257.00;LI=1;TY=200;W1=52.50;PP=ABRL;FI=C:\CADDY\A1\FE1-251.PWN;`

AutoCAD SHX Text
`NM=F105/257;BW=6.00;BB=0.00;ST=8.00;FW=5.00;P=1;PO=2;WI=2;W=105.00;`

AutoCAD SHX Text
`M=FE_101;TA=45;1X=-52.50;1Y=-37.50;2Y=-53.39;LW=2.50;KS=0.00;FD=5.00;`

AutoCAD SHX Text
`BD=6.00;4Y=-53.39;L1=6;L2=30;L3=6;L4=6;L5=29;L6=495;END=0;`

AutoCAD SHX Text
`H=257.00;LI=1;TY=200;W1=52.50;PP=ABRL;FI=C:\CADDY\A1\FE1-251.PWN;`

AutoCAD SHX Text
`NM=F105/257;BW=6.00;BB=0.00;ST=8.00;FW=5.00;P=1;PO=2;WI=2;W=105.00;`

AutoCAD SHX Text
`M=FE_101;TA=45;1X=-52.50;1Y=-37.50;2Y=-53.47;LW=2.50;KS=0.00;FD=5.00;`

AutoCAD SHX Text
`BD=6.00;4Y=-53.47;L1=6;L2=30;L3=6;L4=6;L5=29;L6=495;END=0;`

AutoCAD SHX Text
`H=257.00;LI=1;TY=200;W1=52.50;PP=ABRL;FI=C:\CADDY\A1\FE1-251.PWN;`

AutoCAD SHX Text
`NM=F105/257;BW=6.00;BB=0.00;ST=8.00;FW=5.00;P=1;PO=2;WI=2;W=105.00;`

AutoCAD SHX Text
`M=FE_101;TA=45;1X=-52.50;1Y=-2.50;2Y=6.51;LW=2.50;KS=0.00;FD=5.00;BD=6.00;`

AutoCAD SHX Text
`4Y=6.51;L1=6;L2=30;L3=6;L4=6;L5=29;L6=495;END=0;`

AutoCAD SHX Text
`H=257.00;LI=1;TY=200;W1=52.50;PP=ABRL;FI=C:\CADDY\A1\FE1-251.PWN;`

AutoCAD SHX Text
`NM=F105/257;BW=6.00;BB=0.00;ST=8.00;FW=5.00;P=1;PO=2;WI=2;W=105.00;`

AutoCAD SHX Text
`M=FE_101;TA=45;1X=-52.50;1Y=-37.50;2Y=-51.48;LW=2.50;KS=0.00;FD=5.00;`

AutoCAD SHX Text
`BD=6.00;4Y=-51.48;L1=6;L2=30;L3=6;L4=6;L5=29;L6=495;END=0;`

AutoCAD SHX Text
`H=257.00;LI=1;TY=200;W1=38.00;PP=ABRL;FI=C:\CADDY\A1\FE1-251.PWN;`

AutoCAD SHX Text
`NM=F_76/138;BW=6.00;BB=0.00;ST=8.00;FW=5.00;P=1;PO=2;WI=2;W=70.00;M=FE_76;`

AutoCAD SHX Text
`TA=45;1X=-35.00;1Y=-37.50;2Y=97.90;3Y=130.00;LW=2.50;KS=0.00;FD=5.00;`

AutoCAD SHX Text
`BD=6.00;DD=160.00;4Y=97.90;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;END=0;`

AutoCAD SHX Text
`H=257.00;LI=1;TY=200;W1=52.50;PP=ABRL;FI=C:\CADDY\A1\FE1-251.PWN;`

AutoCAD SHX Text
`NM=F105/257;BW=6.00;BB=0.00;ST=8.00;FW=5.00;P=1;PO=2;WI=2;W=105.00;`

AutoCAD SHX Text
`M=FE_101;TA=45;1X=-52.50;1Y=-37.50;2Y=88.31;LW=2.50;KS=0.00;FD=5.00;`

AutoCAD SHX Text
`BD=6.00;4Y=88.31;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;END=0;`

AutoCAD SHX Text
`H=257.00;LI=1;TY=200;W1=52.45;PP=ABRL;FI=C:\CADDY\A1\FE1-251.PWN;`

AutoCAD SHX Text
`NM=F105/257;BW=6.00;BB=0.00;ST=8.00;FW=5.00;P=1;PO=2;WI=2;W=104.90;`

AutoCAD SHX Text
`M=FE_101;TA=45;1X=-52.45;1Y=-37.50;2Y=84.03;LW=2.50;KS=0.00;FD=5.00;`

AutoCAD SHX Text
`BD=6.00;4Y=84.03;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;END=0;`

AutoCAD SHX Text
`UK=0.000000;OK=440.000000;M=;IV=14.000000;`

AutoCAD SHX Text
`H=226.00;LI=1;TY=100;W1=50.50;PP=ABRL;FI=C:\CADDY1\A1\DUBRU.PBR;NM=D__3;`

AutoCAD SHX Text
`BW=0.00;BB=0.00;ST=0.00;FW=0.00;W=101.00;M= ;TA=45;1X=-50.50;1Y=-12.00;`

AutoCAD SHX Text
`2Y=-168.27;3Y=130.00;KS=0.00;4Y=224.00;L1=6;L2=6;L3=6;L4=6;L5=29;L6=6;`

AutoCAD SHX Text
`4Y=140.00;END=0;`

AutoCAD SHX Text
`H=201.00;LI=1;TY=300;W1=31.75;PP=ABRL;FI=C:\CADDY1\A1\RECHTE1R.PDR;`

AutoCAD SHX Text
`NM=_63/213R;T2= ;BW=4.00;BB=0.00;ST=0.00;FW=4.00;P=1;PO=1;W=63.50;`

AutoCAD SHX Text
`M=T_RE63_R;TA=41;1Y=112.00;2Y=168.00;3Y=-68.20;LW=3.00;AA=5;KS=0.00;`

AutoCAD SHX Text
`FD=6.00;BD=4.00;4Y=140.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;4Y=140.00;`

AutoCAD SHX Text
`END=0;`

AutoCAD SHX Text
`H=201.00;LI=1;TY=300;W1=31.75;PP=ABRL;FI=C:\CADDY1\A1\RECHTE1R.PDR;`

AutoCAD SHX Text
`NM=_63/213R;T2= ;BW=4.00;BB=0.00;ST=0.00;FW=4.00;P=1;PO=1;W=63.50;`

AutoCAD SHX Text
`M=T_RE63_R;TA=41;1Y=112.00;2Y=168.00;3Y=-68.20;LW=3.00;AA=5;KS=0.00;`

AutoCAD SHX Text
`FD=6.00;BD=4.00;4Y=140.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=6;BS=0;4Y=140.00;`

AutoCAD SHX Text
`END=0;`

AutoCAD SHX Text
`H=201.00;LI=1;TY=100;W1=119.25;PP=ABRL;FI=C:\CADDY1\A1\DUBRU.PBR;NM=D_14;`

AutoCAD SHX Text
`BW=0.00;BB=0.00;ST=0.00;FW=0.00;W=235.00;M= ;TA=45;1X=-119.25;1Y=-12.00;`

AutoCAD SHX Text
`2Y=37.04;3Y=130.00;KS=0.00;4Y=224.00;L1=6;L2=13;L3=13;L4=13;L5=29;L6=13;`

AutoCAD SHX Text
`4Y=140.00;END=0;`

AutoCAD SHX Text
`H=125.00;HP=90.00;LI=1;TY=200;W1=100.50;PP=ABRL;`

AutoCAD SHX Text
`FI=C:\CADDY1\A1\FENSTER.PWN;NM=201/101;BW=4.00;BB=2.00;ST=0.00;FW=5.00;P=1;`

AutoCAD SHX Text
`PO=2;WI=1;W=111.50;M=F_RE201Z;TA=47;1Y=100.00;2Y=120.00;3Y=130.00;LW=7.50;`

AutoCAD SHX Text
`KS=0.00;FD=10.00;BD=4.00;4Y=224.00;L1=6;L2=30;L3=6;L4=6;L5=29;L6=13;`

AutoCAD SHX Text
`4Y=140.00;END=0;`
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